
̯ᴰ
6/7 6:45PM

6:45 ð6:50

6:50 ð6:55

6:55 ð7:05

7:05 ð7:50

7:50 ð8:15

8:15ð8:30 ( )



12/7 
8:00am - 8:15am

ầ Ϻἁ ( )



12/7 8:15am - 8:30am

6A 204  6B 217  6C 218

6D 205  6E 206



8:30am
33222 (202)

EAPP (201)
ᴪ ἁἣ (201)
ầ ( )

(318)
(117)

( )
(202)



ΑᶋỴ



332233 / 33222



ᶡ῞ԃ ₱

ᶼ ᶼ
ᾉ
ᶼ
ᶜ
ᶼ
Ᵽ
ᶼ
Ѧ
ᶼ ᶼ

╘
ᶼ
Ѧᶼ ᶼ ᶜᶼ Ᵽᶼσ
ӡ ἭM1/M2פᴴאָ

ᶼⱣ ᶰσ
ӡ ἭM1/M2פᴴאָ

ᾑ 3 

Ѧᾑ 3 

2 

2 

ӡ
2 2 2

3
3 

3
3 

3
3 

3
3 

3
3 



JUPAS
HTTP://WWW.JUPAS.EDU.HK/TC/CALENDAR /

13 / 6

̣ ̤ 2016

9

07 / 7

̣ ̤ ǐ

9

12 / 7

2016

http://www.jupas.edu.hk/tc/application-procedures/selection-amendment-of-programme-choices/modification-of-programme-choices-after-release-of-hkdse-examination-results
http://www.jupas.edu.hk/tc/application-procedures/application-information/school-principal-s-nominations-spn
http://www.jupas.edu.hk/tc/application-procedures/application-information/other-experiences-and-achievements-in-competitions-activities-oea


JUPAS
13 ð15 / 7

̣ ̤

7 13 Ǜ 9 9

7 14 Ǜ 8 30 10

7 15 Ǜ 8 30 6

07 / 8

9

08 / 8

5

http://www.jupas.edu.hk/tc/application-procedures/selection-amendment-of-programme-choices/modification-of-programme-choices-after-release-of-hkdse-examination-results
http://www.jupas.edu.hk/tc/results-of-application/main-round-offer
http://www.jupas.edu.hk/tc/results-of-application/main-round-offer


JUPAS

SIR



JUPAS



JUPAS



332233 / 33222
(202 )

JUPAS
202

?
( / / )

HD/AD?
201

(
)

+
JUPAS

202





1) Band A ( 5 )
2) 

3) 
4)
5)

6) 

A1

A2

A3

http://www.jupas.edu.hk/tc/statistics/main-round-offer/


4)
3Ǎ 3Ǎ 5**Ǎ 2Ǎ 5**Ǎ 5**ǍM2 5**

+ 3 + 1
5

3+3+7+7+7
=27

3+3+7+2+7
=22

7+7+7+7+3
=31

+2X
6

3+3+7+2+7+7
=29

7+7+7+7+3+3
=34



( ̡ )
http://www.holmglad.edu.hk/life_planning/t
c/seniormap

http://join.ust.hk/cal/cal.html

http://www.admo.cityu.edu.hk/assessment/score_
calculation/

http://www.holmglad.edu.hk/life_planning/tc/seniormap
http://join.ust.hk/cal/cal.html
http://www.admo.cityu.edu.hk/assessment/score_calculation/


( )

6 (4+2)
X 2
X 4 , , ( ), ICT,M1/M2 X 4

X 3
, , ( ) X 2
X1

A : 5Ǎ 3Ǎ 3Ǎ 5Ǎ 4Ǎ 4 = 21
: 5+(3X2)+(3X2)+5+(4X2)+(4X2)=38

B : 3Ǎ 5Ǎ 5Ǎ 3ǍM2:4Ǎ 4 = 21
: 3+(5X2)+(5X2)+3+(4X4)+(4X4)=58


